
For more information call: 1.877.BHS.4YOU
(Outside the U.S. +1 314 890 0953)

P.O. Box 28990  •  St. Louis, MO 63132 USA  •  1.877.BHS.4YOU  •  Fax: 314.423.5948  •  Email: service@bhs1.com  •  Web: BHS1.com 
Specifications are subject to change without notice. ©2014 Battery Handling Systems Inc. St. Louis, MO Data Sheet:  TT-953  08/14

Battery Containment Bar Tech Tip

Subject:
In Spring of 2012, BHS introduced several upgrades and improvements to the Automatic Transfer 
Carriage (ATC) and Walkie Transfer Carriage (WTC) models. The primary improvement was the 
addition of a drop down battery containment bar to enclose the battery compartment and secure 
the battery during transport.

Description:
The Battery Containment Bar is constructed from 1-1/4” square tube with a 3/8” thick 
reinforcement bar for added rigidity. It hinges on 3/8”  hardware and automatically locks into the 
fully raised position eliminating accidental lowering during the battery change. When closed, 
both ends of the bar rest in a three sided receiver for positive engagement, ensuring a solid 
containment device which will not inadvertantly open. Rubber bumpers are installed on the 
containment bar mounts to protect lift trucks from damage.

Recommendation:
Bolt on kits are now available to add the Battery Containment Bar to older units. Information on the 
Battery Containment Bar kits, as well as all parts kits, Tech Tips, Planned Maintenance Checklists and 
more, are available on our website at BHS1.com. Find BHS Technical Literature under the Library tab.

Models Affected: ATC and WTC models TT–953

Technical Support Department
1.877.BHS.4YOU (1.877.247.4968)    BHS1.com

M–F 8:00 A.M.–5:00 P.M. CT (GMT-6)ATC-24-CAN-7 CONTAINMENT BAR KITP/N: 80012013

QTY PART#  DESCRIPTION     

1 08015035 CONTAINMENT BAR

1 08015040 CONTAINMENT BAR REST

1 08015041 CONTAINMENT BAR MOUNT

1 08017088-2 CONTAINMENT BAR STOP

8 HW0402 BOLT-HHCS-3/8"-16 X 1"

8 HW0107 WASHER-LOCK-3/8"

8 HW0005 NUT-HEX-3/8"-16
1 HW0408 BOLT-HHCS-3/8"-16 X 3 1/4"

1 HW0108 WASHER-FLAT-3/8"-SAE

1 HW0006 NUT-NILN-3/8"-16
2 HW1037 RUBBER BUMPER
2 HW0303 BOLT-HHCS-1/4"-20 X 1"

2 HW0104 WASHER-FLAT-1/4"-SAE

2 HW0003 NUT-NILN-1/4"-20
1 00196222 LABEL-CRUSH HAZARD

1 80012014-i INSTALLATION INSTRUCTIONS
02/14

Specifications subject to change without notice.

©2014 Battery Handling Systems Inc.
St. Louis, MO.  All Rights Reserved.

Technical Support Department

1.877.BHS.4YOU (1.877.247.4968)  •  BHS1.com

M–F 8:00 A.M.–5:00 P.M. CT (GMT-6)

Specifications subject to change without notice.

©2012-2014 Battery Handling Systems Inc.

St. Louis, MO.  All Rights Reserved.

08/14

ATC/WTC-24 BOLT-ON CONTAINMENT BAR KIT

P/N: 08412137

QTY PART#  DESCRIPTION   

1 08015035 CONTAINMENT BAR

1 08415676 CONTAINMENT BAR MOUNT

1 08415677 CONTAINMENT BAR REST

1 08017088-2 CONTAINMENT BAR STOP

4 HW0402 BOLT-HHCS 3/8-16 X 1"

4 HW0107 WASHER-LOCK-3/8"

4 HW0005 NUT-HEX- 3/8-16

1 HW0408 BOLT-HHCS-3/8-16 X 3 1/4"

1 HW0108 WASHER-FLAT-3/8"-SAE

1 HW0006 NUT-NILN-3/8-16

2 HW1037 RUBBER BUMPER

2 HW0303 BOLT-HHCS-1/4-20 X 1"

2 HW0104 WASHER-FLAT-1/4"-SAE

2 HW0003 NUT-NILN-1/4-20

1 00196222 LABEL-CRUSH HAZARD

1 08412120-i INSTALLATION INSTRUCTIONS

http://bhs1.com

